
cos(ωt− kx) + a cos(ωt− kx− φ) = (1 + a cosφ) cos(ωt− kx) + a sinφ sin(ωt− kx)

= A cos(ωt− kx− φ′)

A =
√
1 + 2a cosφ+ a2 , φ′ = tan−1

(
a sinφ

1 + a cosφ

)
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φ

2π

a=1 a=0.5

A > 1の範囲では強め合う。

..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
...............
..............
...............
................
................
...............
...............
................
...................
.............................

....................................................................................................................................................................................................................................................................................................................................................................................
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
...............
..............
...............
................
................
...............
...............
................
...................
.............................

....................................................................................................................................................................................................................................................................................................................................................................................
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
..............
...............
..............
...............
................
................
...............
...............
................
...................

.............................
......................................................................................................................................................................................................................................................................................................................................................................

.............................
..................
.................
.................
................
.................
.................
..................
...................
......................
...................................

...................................................................................................................................................................................................................................................................................
..................
.................
................
.................
.................
.................
..................
...................
......................
...................................

...................................................................................................................................................................................................................................................................................
..................
.................
.................
.................
.................
.................
..................
...................
......................
.......................................

..................................................................................................................................................................................................................................................


